SM757H20BH4T

RERBR TERREEKX

B2/ ESERZRBETES

(Ew] + [#5) 5 %« o
BEEAE 9,350 9,560 18,910

B R X 51.00% 48.41% 49.65%

ElR) 5 5§ &t [(7£4}] = 5§ 5
BEEH 18,327 19,735 38,062 | HHEEH 8 13 21
BREHG 9,347 9,667 18,904 | HEEH 3 3 6
U I 4,373 4,353 8726 M=K 37.50% 23.08%| 28.57%
S0 F Rl R 4,834 5,079 9,913

FAEH R 140 125 265

B R X 51.00% 48.43% 49.67%
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FERFELUT HREHFR AKER

B2/ ESERZRBETES

(Ew] + [#5) 5 %« o
BEEAE 9,350 9,560 18,910

B R X 51.00% 48.41% 49.65%

ElR) 5 5§ &t [(7£4}] = 5§ 5
BEEH 18,327 19,735 38,062 | HEELK 8 13 21
BREHG 9,347 9,667 18,904 | HEEH 3 3 6
U I 4,373 4,352 8725 =K 37.50% 23.08%| 28.57%
S0 F Rl R 4,834 5,080 9,914

FAEH R 140 125 265

B R X 51.00% 48.43% 49.67%




